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9.

List 3 conditions for produce to be obligated in @0?7121.

. What is the ideal time period for ©?7132 to be brought to the wTpRA N3,

and why?
Why doesn’t a convert recite the 0?7131 RIPR?

Why may one ideally not send a messenger to bring his 0?7131 to the N3
wTR?

a. List 2 laws which applies to D? 1132 and NN1TA but not to 72w 1WYyN.

b. List 2 laws which applies to 72w 7wy and NP1 but not to 077131.
Name 2 of the 4 ]'I'i'l}’)‘) which accompany the bringing of @O?71121.

a. List 2 stringencies which a 713 has which is common with a nRn2.

b. List 2 stringencies which a 713 has which is common with a n?11.

What is the name of the group with whom one would bring 0?7133, and

what else did this group do together?
Why was it instituted that a 1713 would tell the person bringing ©0?7132 what

to say, phrase by phrase?

10. What is the difference between an D1273171TIN and a VRV, and

according to 7D1? 1 why does a DIVRV have many stringencies which an
D12?2171TINR doesn’t?




